
1. Figure 1.1 illustrates a lake basin undergoing sediment accumulation.  If the sedimentation rate is 
constant over time, depth of burial becomes equivalent to age.  If stratum are buried at double the 
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depth compared to others, they are twice as old and so on.  This relationship can be expressed as:

Age of Deposit = (k)(Depth)

Where k is a constant rate of sedimentation.  If k = 500 yr/ft, calculate the age of sediments at depths of 
1 m, 2m and 5.3 m.  Repeat same calculations if k = 3000 yr/m. Show all of your unit algebra and 
math work.

2 The volume of a sphere is calculated as follows:2. The volume of a sphere is calculated as follows:

where r is the Earth’s radius (r = 6.37 x 106 m), assume the Earth is a perfect sphere.  Show all of your 
unit algebra and math work.

3. In simple models of mountain formation, the mountain is supported by thickened crust such that:

Show all of your unit algebra and math work.
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4.
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Show all of your unit algebra and math work.

5.
Show all of your unit algebra and math work.

6.   

Show all of your unit algebra and math work.  

7.   

Draw a sketch, show all of your unit algebra and math work.  
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